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QUESTION NO: 1

Which IBM service supports building integration flows through a no-code approach and exposes those flows as RESTful
APIs without having to be an API development expert?

A. IBM BPM
B. IBM WAS
C. IBM API Integrator

D. IBM App Connect

ANSWER: D

QUESTION NO: 2

Which two capabilities are included in the loT Connection Service? (Choose two.)
A. SMS Messaging

B. Remote control

C. Appliance claiming

D. Registration through SNA protocol

E. Solution administration for deployment and device groupings

ANSWER: C E

QUESTION NO: 3

What are two of the functional components of the IBM Cloud Private Reference Architecture? (Choose two.)
A. BPaaS

B. NexGen Security

C. Infrastructure Management

D. Developer Automation
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E. CaaS

ANSWER: D E

QUESTION NO: 4

What are two attributes that affect the adoption of microservices? (Choose two.)
A. Lack of standards

B. Lack of experience

C. Changing cultural inertia

D. Limited virtualization options

E. Limited, explicit dependencies on other services

ANSWER: B E

QUESTION NO: 5

Which is a “Principle of Continuous Delivery”?
A. Aim for “100% uptime”

B. Code branches must be continuous.

C. Configure everything automatically.

D. Smaller and multiple releases that incorporate fewer changes.

ANSWER: D

QUESTION NO: 6

What are two approaches organizations can consider for an application migration? (Choose two.)
A. Retain

B. Reshape

C. Rebuild
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D. Lift and Shift

E. CaaS Migration

ANSWER: AD

QUESTION NO: 7

How can adopting an Application Performance Management (APM) strategy and integrating it with a DevOps approach help
to ensure that whatever platform is chosen for a workload is a seamless experience for the

end-user?

A. IBM APM runs only on the IBM Cloud and IBM Hybrid Cloud environments.
B. IBM APM is the right companion to the new generation of DevOps tools.
C. IBM APM runs root cause analysis on issues in production systems.

D. IBM APM can be leveraged in the early phases of system testing and development on production-like systems.

ANSWER: C

QUESTION NO: 8

What are two essential characteristics of cloud computing? (Choose two.)
A. Virtual machines

B. Rapid elasticity

C. Network isolation

D. On-demand self-service

E. High Performance Computing

ANSWER: B D
QUESTION NO: 9

Where can IBM Cloud Reference Architectures be acquired?

A. They are available on IBM Cloud Garage site
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B. They are available through Passport Advantage
C. They are available as a Redbook on the Redbook site

D. They are available from IBM Tech Seller with an NDA

ANSWER: A

QUESTION NO: 10

Which option in NetApp ONTAP Select comes with an all SSD Storage configuration?
A. High Capacity

B. Medium Capacity

C. High Performance

D. Medium Performance

ANSWER: C

DumpsBoss - Pass Your Next Certification Exam Fast!


https://dumpsboss.com/

